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Algebraic Transformations Guide

Inside (horizontal change)
tix)=a- flb{x—h)) +k
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X y
(parentx + b, fixed) so:
If b>1, Then horizontal compression.
If 0<b<1, Then horizontal stretch.

a

If -b, Then opposite x’s
reflects (flips) over y axis.

If (_ - h), Then horizontal translation (shift) right.
If (_+ h), Then horizontal translation (shift) left.

I
t(x =cz- b(x—h)) + k

X y
{fixed, parenty-a)so:
If a>1, Then vertical stretch.
If O<a<l, Then vertical compression.
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If -a, Then opposite y's
reflects (flips) over x axis.

v
If +k, Then vertical translation (shift) up.
If - k,Then vertical translation (shift) down.
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tix)=a-filb(x—h)) +k
Outside (vertical change)
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